Word Problems

Division

. Mrs Sharp shared 12 bookmarks among 6 students. How many bookmarks did each student

receive”?

2. The florist has used 56 flowers to make 7 evenly sized bunches. How many flowers are in each

bunch?

3. 24 people have signed up for foothall. [f there are 6 people on each team, how many teams will

there be?

4. Kelly organises her books into piles of 3. [f she has 33 books altogether, how many piles will she

make?

e

5. Rob can walk 1 kilometre in 12 minutes. How many kilometres can he walk in 36 minutes?
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Word Problems Answers

Division

. Mrs Shorp shared 12 bookmarks among 6 students. How many bookmarks did each student

receive?

2 bookmarks

2. The florist has used 56 flowers to make 7 evenly sized bunches. How many flowers are in each

bunch?

8 flowers

3. 24 people have signed up for foothall. [f there are 6 people on each team, how many teams will

there be?

4 teams

4. Kelly organises her books into piles of 3. [f she has 33 books altogether, how many piles will she

make?

11 piles

e

5. Rob can walk 1 kilometre in 12 minutes. How many kilometres can he walk in 36 minutes?

3 kilometres
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